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(-10007 O)kpa 0.02,g 0.05,9 01,9 02,9 O
(001 16)kpa -- 0.05,9 01,9 02,9 O
(001 25)kpa -- 0.05,9 01,9 0.2,9 O

(001 40)kpa 0.02,g 0.05,9 01,9 0.2,9 O



(001 60)kpa 0.02, g 0.05, g 01,9 0.2,g 0

(00 100)kpa 0.02, g 0.05, g 01,9 0.2,9 O
(00 160)kpa 0.02, g 0.05, g 0.1,9 0.2,9 O
(00 250)kpa 0.02, g 0.05, g 01,9 02,9 O
(07 400)kpa 0.02,¢ 0.05,¢9 01,9 0.2,¢ O
(001 600)kpa 0.02, 9 0.05,9 01,9 02,9 0
(000 1)mpa 0.02,g 0.05,9 01,9 02,9 O
(001 1.6)mpa 0.02,g 0.05,9 01,9 0.2,9 O
(000 2.5)mpa 0.02,g 0.05,9 01,9 0.2,9 O
(00 4)mpa 0.02,¢ 0.05,¢9 01,9 0.2,¢ 0
(00 6)mpa 0.02,¢ 0.05,¢9 01,9 0.2,¢ O
(00 10)mpa 0.02, sg 0.05, sg 0.1,sg 0.2,sg O
(00 16)mpa 0.02, sg 0.05, sg 0.1,sg 0.2,sg O
(001 25)mpa 0.02, sg 0.05, sg 0.1,sg 0.2,sg O
(001 40)mpa 0.02, sg 0.05, sg 0.1,sg 0.2,sg O
(00 60)mpa 0.02,s9 0.05, sg 0.1,s9 0.2,s9 0
(00 100)mpa -- 0.05, sg 0.1,s9 0.2,s9 O
(00 160)mpa -- 0.05, sg 0.1,sg 0.2,sg O
(00 250)mpa -- 0.05, sg 0.1,sg 0.2,sg O
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+ 16kpa -- 0.05,9 01,9 02,9 O



+ 25kpa -- 0.05,¢9 01,9 0.2,¢

+ 40kpa 0.02,9 0.05,9 0.1,9 0.2,9
+ 60kpa 0.02,g 0.05,9 01,9 02,9
+ 100kpa 0.02,g 0.05,9 01,9 02,9
(-1000 160)kpa  0.02, g 0.05, g 01,9 0.2,9
(-1000 250)kpa  0.02, g 0.05, g 0.1,9 0.2,9
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